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Ex.4 A man s c)rajal‘nT a Frunk ue the )oa.a\"nj canp ...
- _»
ay \F1=7 £ M,
cos B6) = Fx ,\ -4 C/%’ ,
) C_—%
|F|= Fx = Q0N =|)03 N
cos(30°) cos 3¢
b.\ F,=7 tan 30°= Fy Fy= & ~_')fzn30° = Qo N '\'aﬁ 30
7/ Fx 4
Fy = §2.6 N
Ex.? A 8.5 ko skater mov inq iwchizlly z¥ 2.40wm)s on roujk-»..
V = 6.00 w|s Eq.1 = V=V, +al a= V-Ve
t = 3.52s ( t
3 =7 ) a:@.oo ~2.40)m)s  p=— 0,68 m)s’
3.52 s
LF= ma IF=(_(98.5\¢3>(—0.55’M152> | ZF=—%.¥N‘)
Ex.12 A crate with mass 32.5 \«3 ‘m?‘Hal)y sY rest on = ...,
> F, = 40N ‘
2. acceleraton = 7 a= P F/m = 13,6 N /32,5kj =O.43)$
a= 0,431 mfs*
L-\) X=Vot + Q_Z.}.— =0t 2 (O "|3IM]5)(IO.O.S> =120L.5m
e, v=V, +at = O +(0‘43' m/5>(1005> =|4.3Im)<
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Ex,\# Superman throws & 2400-N boulder a¥ an aAversarjv vos
LF,=mz, = /2“100 N \ 12.0wm|s* =|2939 N
Caoms)
Ex. 24 The u?warc\ normz| force exerted \ug the $Hoor is 620 N...

Whzt zce the vexcHon Lforces Yo

norma.l

P Feree

ﬂvese 2. ¥orces,

,_)(S_,V’ZON
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2) Fo =.Frafs-eﬁg-ef—9‘°—;l°3"
’ ¥ bor on stserga' ’

.
W=650 N

b > F; == €r
A on +§e Exc¥h

)

Yes. The passenqer \s acce)eta‘hvsq beczuce the ZF £,
Whzt are the m2qm4uée znd dlreo*l-low of the aue)erzi-rato

Free - Bedy Digdqem
N

Z R = MR, -
/ )
. Y G20 N
A= 2Fy - (w20-650) N ‘T
T, (656/2.3) - l— Psserger
9 2 @
a,l, = —-0.452 m/sz maﬁnii'uc\e =O.‘452m'/52
direckon = dowmazed W 650 N
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Two cra+es) A and B, s\t af rest 51de-by-53cl€
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Free-—boa\’l 'Diagra,ms
mk " mB .t
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L]
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The on\u pzur of Sorcec Yhat are ‘H‘urA “\zw ac‘)-lon

rexchov

-g-‘orces N 'H?ese 2 dlaqra,ms =ce ! )..—A lr: = — F
N 13#

o
* 7
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1f ]F] < (mAiX’ i—m&c_&) . “\fesu the will meve.

In $act Yhe Ywo mzasses will zceelerate Az 2 Fx

|F) Wiy +Mg

—_
Bx = = as lonﬁ as )F') >0
", + Mg

Pcob. 28
—

A .22 rifle buﬂe'}) '\'rave“nj 2}t 350 m/S it

Vo = 350 wls \

= 0.00 m[s L Eq.2 => y= 'L( +V)']_‘

-4
+43x%10 s

V 2
X = 0.130 w t= 22 = 2( laoml =
+ =77 Np +V (350 +OYmfs
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DATE

TP

Corﬁ"c’
b-’\ Force = Firs'}) S'-‘mA the ziccelecation.
X= 0.130wm )
\'A =350\M!$ E'qa'-l A> V =V, +2ax o
VY = 0,00 mfs a= V Vo _( ) (350M[5> _ -q‘q;,.,gf%
a-c Ky J 2% 2 (O. 130W\) 5
- 5 )\
b‘> F=wm (l.so xlo3\<3> (—‘-l.?/xlo'n/s’/) =|—©e48 N |
mzxssfog» the vullel
_ Probug | Boxes A and B zre connected to each end of 2 light
Ver%ca ‘ ropeé. — o N
] F=2C1
3 "9‘)' find Yhe acce)erzhon 3 au =7 N
,D‘ oo N
= =12.0w \ Eq.- /V" Ma
= o0 s 'V‘/t ria.t’ =
‘ L T [e=T=seen
Va";‘: o.00 m/s \/: > a\,t
a‘/ = 7? a\[, = (" 24, Om> mp
'tz .05
aY = —-1.50 Mlsz or !-SOMI,S dewrward ’ T=36.0N
Free-Body Disgraw f
a> Let mg = the 5jsfem =
v
ZF\/ = ma\l, a[‘, =+1L.50m/s? N Ma &
< \
- Mga — T =ma, . l
J ) m
M, (g-2) = T N Yy Mg
ms - T = 2b.oN ——— =| 4,3y kq
3-2  (2.8-1.50)m]s’
[
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Prob, H& COh“f‘ &

b:) mA =?

Free Bedy Dizgram _
Let my => the S%Sﬁ'em

_ x i
2-—,:‘! = 0, a‘/ Dy =+ .50 mfs’ My | ©
- =34 N
Myq +T —F=m,3y y L=
Y a2,
A
MA (3 av\ 3
m, = F-T = (80 36)!\1 = 5.30 ka
A —_—d
q-a, [@.8-1.5)m

End of Chapler 4




